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Schwammspinner  
415

 
1.400

 
14   

376
 

155     
0   

3

Eichenprozessions-
spinner

 
1.063

 
2.150

 
1.440   

0
 

4.024    
706   

0   
10

Buchenspringrüssler 0  
50   

0   
50     

0

Buchenblatt- 
Baumlaus, Wollige

 
4    

1
 

20    

Gespinstmotten  
0    

40

Rosskastanien- 
miniermotte   

9      
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Rüsselkäfer,  
Großer Brauner

 
5

 
390

 
12   

41
 
95

 
969    

37   
41   

2.600

Maikäfer  
1.330

 
20

 
1.376   

0
 
1

 
200   

2
 

330

Kiefernbuschhorn-
blattwespe, Rote   

15    

Grünrüssler    
1    

1

Erd-, Feld- und  
Rötelmaus

 
1

 
220


0   

113
 
80

 
26    

73   
105   

190

Schermaus  
1

 
180    

13
 
35

 
18    

59   
17  

Bilche/ 
Eichhörnchen

 
1  

0    
25

Wildschäden  
9.126    
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Fichtennadelpilze    
0       

4.600

Fichten- 
triebsterben

 
1.900

 
100


0   

25

Grauschimmel  
0    

0
 
0     

8   

Kiefernrinden- 
blasenrost

 
5.700   

0     
3.408

 
150   

85

Kiefernschütte  
28

 
570    

4
 
15     

43
 

104   
40

Kieferndrehrost    
0

 
0  

Kiefernbaum-
schwamm     

21
 
0 

 
7.004/ 
2.984

 
60 

Diplodia-Trieb- 
sterben der Kiefer

 
677

 
13.500    

146
 

200       
1.300

Weymouthskiefern-
blasenrost

 
0   

13
 
6   

Schwarz
kieferntriebsterben     

Dothistroma- 
Nadelbräune     

Lecanosticta     

Scleroderris-Krankheit   
0    

25

Lärchenschütte  
80

 
0    

440


